




David Archer
Note
here's the "rocksalt prism"





David Archer
Note
A ray can be strengthened by passing through the gas, if it emits.  Arrhenius seems to miss this, but gets it right in the atmospheric section later.

David Archer
Note
here's the "bolometer"



David Archer
Note
the numbers I find in the text are:
40            1
39.75       1.4
39.5         1.83
39.25       2.64
39            4.3
38.75       5.5
38.5         7.1
but then we see numbers like
39.15       8.7
39.08       9.5
which don't continue the trend.  so I don't know how to convert from degrees to wavelength.  



David Archer
Note
uh-oh.  no data for wavenumbers less than 1000 cm-1.  that's where all the action is.  yikes.



David Archer
Note
each doubling of CO2 gives
comparable radiation decrease.  this must have been an assumption of the formulation rather than something he proved from the moonlight data.





David Archer
Note
sigma T^4

David Archer
Note
the layer model



David Archer
Note
badda-bing!  here's the ice-albedo feedback

David Archer
Note
K here is all the constants.  beta is the absorption of the atmosphere, fn(CO2).  nu is 1-albedo.  

David Archer
Note
here he seems to understand that the air radiates IR as well as absorbing it.  I wonder if the moonlight intensity is such that atmospheric emission didn't matter in the moonlight data?  maybe the sunlit moon surface is much warmer than the upper atmosphere.  



David Archer
Note
radiative forcing goes as ln(CO2)





David Archer
Note
here's the water vapor feedback





David Archer
Note
DT2x = ~6 C



David Archer
Note
2-3x CO2 to get tertiary, sink to 150-170 ppm to get glacial.  that's pretty close.  



David Archer
Note
recognized anthropogenic CO2, but would take 1000 yr to double atmospheric concentration.










